


(2)
(¢) Fill in the blanks : VarYa=1
1R 31 3G 90 ¢

(i) If two sets have no common
elements, then they are called

sets.

b ok B e 1 B
LCE, i Fres g2fS @@l
2 |

(i) If any two rows (or columns) of
a determinant are equal, the value
of the determinant is
i G e 701 H[ (S ¥B) 9T
29, feiefRRRCOIS I 2 |

(d) Given the matrix
4 G G413
A=lay az ag3
d3; Qg Gdz3
Write the cofactor of the element a,3.
were gl CNeFHIoE
a4y G Qg3
A=|ay ay a3

da; Q33 0agz3

ass %W WQ"W W |

A9/42 ( Continued )

(3)

fe) Write True of False :
A G ST fer4
() The graph of a rational function is
a rectangular hyperbola.
ARG Fo @9 2 < wHeRE

94 |

a0 d _du /dv
& E_(y) dx/dx

(i Define homogeneous function.
TSI e Sl fg |

(9) State when two matrices A and B are
conformable for multiplication.,

A SI¥ B R 051 9999 S fow
27 7

(h) Evaluate :
I+ ety <541

lim A - x®
h—0 h

() Define inverse of matrix A.

AF R[S (e it oy |
G) If z=x8%_2x2 +10x, find the value
of @

Wt 2= x° 2272 +10x, %ammwl

o ( Turn Over )
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2. Answer the following questions : 2x5=10
RO G 5; 72 i piRab Teq ﬁ?.{f;h :
fa) Solve :
A <F91
3; ;r —14x: +8=0

fr

J

Find the value of — Y = -
2x+3

A=|0
4

]‘:Tjr(")aﬁ(n tha Qa‘\] = A.

oelER
qm

f\ AT

A

Show that (A +B) = A" +B".

AQ ///L?\ {{ Continued )

fame o

o afsce

When is a function y= f(x)} said to be
continuous at a point x =

(I 9B Ty = f(x) e

wffved 31 PRI 27

3. Answer any J‘mi’a{ of the follow }fﬁfﬂ({ (e[ﬁili»&im[@)qlﬁi
5x4=20
eio fel enpTed R e BIfRGE Tee fin
(a) If u and v are differentiable functions
of x and y=uwv, then prove that

‘fc Lene
qY u I

9l &

Uo 2 ()= u.

dx dx

) it ( (O A LML
= 93:’ +3 and y=t“-1, prove that

QJIr +3 ¢ y=t“-1, a9 U &
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(c) Evaluate :

o e 40

|b+g ¢ b '}
“ c fletd a

; = 7= 1)
| L a AL (A

: N ST
(ZEQ If Wltﬁ)« !vf + 2 'J i find the value of ax

ol Ve i
3‘5; o Sq W ffy

{e) Find :

i =40
& A

T 4

() Find out the equilibrium price and
r_@w@@@f@:@? of the f;&ﬂwﬁm&;mm rket model : o

A9/42

b ,ﬁyﬁ“"’

a
. JTM\”,RU the n(ml[\hnavmmv

(IST%)

questions : 10x4=40
CSE| ;’zfqﬁ,if‘ik}:r-?f.; aq o .

(@ () Ditferentiate

| between Ilim f(x) and
"]H”” i

Xx—=a n
lim f(x) = flaz e i el
Jm f() A fla)F TEme smm ok
ferar |
(@) If f(x) = L , show that
1+x =
Z

Rl fx) =

li=oe Lo e ]
] ,”-..-’: , Ced1 @@ ff‘(“ -

/(X))

mitinuous atx =1 @

Ao
AT x#1

<
)

. = R eNE
e

1F'

=]

A

e @
B[ foigy |

x=1

RS fl) Femeor
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(9)

(8

2+2=4 ; Or / 524

d B’

Solve (by matrix inversion method) :

S 9 (R[S (e

o)

g _ c+2Y— T2 =- JL/‘./'
2) Subset ,\
@ st o -4 If'.-‘..h,@}}!fj +z=5
LRl

0 () lty= = (%2 +10)(x® —2x +186), find the

using product rule of

Or / %Al

If 1: 6L TN
2 ¥ differentiati
L& 6

\F
: |
A 1 ) ‘:’.*,‘ and B ‘L )|
1 e \ pha 123 wiE)

on. 3
y=(x? +10)(x® -2

24

nd BA. 5+5=10 fAefy
1 (i) If

find the value of A3 @

oed 55
A

Ta2" 8 “ o & G ;
A=| 1 2 3|9 #ﬂ*‘ =121 ; _
Sl 3 L7 % find the value of 5
AB ¥ BAT W {Ai S0 | ‘ 5
(b) Solve (by using Cramer’s rule) : 10
F W S\
ST 3 €9 s desl §E)
f«y),(“ + X g - 3x |
bl 1'2;:;\3-.9) + 5 (iii) \fa\?fs:‘rf&i@ the quc il o
4 differentiation. 2

3 I FaTE setemm e S
SI9EFETT STl BI5FT AIfogs! &2 |
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( 10 )

Or / =841

Si8md =0
Find the value :

2x+2

(i) | 2 +2x-10)°

(iti) f (x2 —2x +10)dx

If —M, find the value of
@ U=

Yy d Iy
——ana ——-
axl aJCQ
9y
5 (2361 u—x%) Q’ﬁ %_ I 5;;? T
3 (2 +3x5) =
et 0L

ion 18
(ii) 1f the mgrin51+ E:ostw Iizllcug S 3
MC1: =1J.1t,2(§nd the total cost function.
:;:T%as % F MC = 1207 —40%2
=, 1® Q D JEE, P T
foyefd <51 | ;
(i) j Sl =P

A9—8000 /42
( Continued )
A9/42

(11 )

Or / G2y

() Examine Whether the matrix

3]

Rilisfies the

A® ~54 4 7I=0,
denote re
mnd null

matrix  equation

where J and (@)
Spectively identity matrix
matrix of order 2 x 2.

&l
(e oy = ;
R

A? <54 4 1= O FNITH 71477 <o

(LA [ 9, I'® I 9% og TR

XD AN G e SF  *e
G qnfage |

() Write

& note on the significance of
st

atic input-output model,

&9 Boimrr-Beom SRS Gleepy o
BT CBrept foray |

* % ok
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